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O~ VH$ AmnH$mo `h àíZ-nwpñVH$m ImobZo H$mo Z H$hm Om` V~ VH$ Z Imobo§ &

àíZ nwpñVH$m
{df` H$moS>	 :	 77

{df`	 :	 gm§p»`H$s

AZwH«$_m§H$ (A§H$mo§ _|) : 

AZwH«$_m§H$ (eãXm| _|) : ____________________________________________________

Aä`Wr© Ho$ hñVmja

     
H$j {ZarjH$ Ho$ hñVmja

g_` : 2 KÊQ>o	 nyUmªH$ : 200

narjm{W©`m| Ho$ {bE {ZX}e
	 1.	 Bg àíZ-nwpñVH$m _| Xmo ^mJ h¡§ & {OgHo$ àW_ ^mJ _| gm_mÝ` kmZ go gå~pÝYV Hw$b 30 àíZ h¢ & 
	 2.	 Bg àíZ-nwpñVH$m Ho$ {ÛVr` ^mJ _| d¡H$pënH$ {df` go gå~pÝYV Hw$b 70 àíZ h¢ &
	 3.	 Bg àíZ-nwpñVH$m _| 100 àíZm§e (àíZ) {XE JE h¢ & àË òH$ àíZm§e {hÝXr Am¡a A§J«oOr XmoZm| _| N>nm h¡ & àË òH$ àíZm§e Ho$ {bE Mma {dH$ën 

{XE JE h¢ & BZ_| go EH$ {dH$ën H$mo MwZ b|, {Ogo Amn CÎma nÌH$ na A§{H$V H$aZm MmhVo h¢ & `{X AmnH$mo Eogm bJo§ {H$ EH$ go A{YH$ 
{dH$ën ghr h¡§, Vmo Cg {dH$ën H$mo A§{H$V H$a| Omo AmnH$mo gdm}Îm_ bJo§ & àË òH$ àíZm§e Ho$ {bE Ho$db EH$ hr {dH$ën MwZZm h¡ &

	 4.	 narjm àmaå^ hmoZo Ho$ VwaÝV ~mX, Amn Bg àíZ-nw{ñVH$m H$s Om±M Adí` H$a b| {H$ Bg_| H$moB© {~Zm N>nm, H$Q>m `m Ny>Q>m hþAm n¥ï> AWdm àíZm§e 
Am{X Z hmo &

	 5.	 Aä`Wu H$j {ZarjH$ Ûmam {ZX}e XoZo Ho$ CnamÝV hr àíZ-nwpñVH$m H$s grb Imob| &
	 6.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎma XoZo go nhbo àíZ-nwpñVH$m Ed§ CÎma nÌH$ Ho$ g^r AZwXoem| H$mo gmdYmZrnyd©H$ n‹T> b| &
	 7.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) na Aä`Wu AnZm AZwH«$_m§H$, {df`, àíZ-nÌ H$m ghr H$moS>, CÎm[aV àíZm| H$s g§»`m VWm AZwÎm[aV 

àíZm| H$s g§»`m ñdÀN>Vmnyd©H$ {bI| AÝ`Wm CÎma nÌH$ H$m _yë`m§H$Z Zht {H$`m Om`oJm Am¡a gånyU© {Oå_oXmar ñd`§ Aä`Wu H$s hmoJr & 
	 8.	 Aä`Wu ghr CÎma {Z{X©îQ> H$aVo hþE CZ_| go Ho$db EH$ Jmobo AWdm ~~b H$mo CÎma nÌH$ na H$mboo ~m°b ßdmB§Q> noZ go nyam Jham H$a X| & 

EH$ go A{YH$ CÎma XoZo H$s Xem _| CÎma H$mo JbV _mZm Om`oJm Ed§ Cgo Om±Mm Zht Om`oJm &
	 9.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) _| EH$ ~ma Jmobm ^ao OmZo Ho$ ~mX Cg_| {H$gr ^r àH$ma H$m n[adV©Z Zht {H$`m Om`oJm &
	 10.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) H$mo {H$gr àH$ma Z _mo‹S>| &
	 11.	 AmnH$mo AnZo g^r CÎma Ho$db CÎma nÌH$ (Amo. E_. Ama. erQ>) na hr XoZo h¢ & narjm Ho$ Cnam§V CÎma nÌH$ (Amo. E_. Ama. erQ>) H$j 

{ZarjH$ H$mo bm¡Q>m X| &
	 12.	 `{X {hÝXr `m A§J«oOr {ddaU _| H$moB© {dg§J{V hmo, Vmo A§J«oOr {ddaU ApÝV_ _mZm OmEJm &
	 13.	 `{X H$moB© Aä`Wu AZw{MV gmYZ H$m à`moJ H$aVm h¡ `m CgH$m à`mg H$aVm h¡ AWdm narjm H$j _| {H$gr àH$ma H$m ì`dYmZ H$aVm h¡, 

Vmo dh narjm Ho$ {bE A`mo½` Kmo{fV H$a {X`m Om`oJm &
	 14.	 H$moB© ^r Aä`Wu narjm H$j go ~mha Zht Om`oJm O~ VH$ 120 {_ZQ> (Xmo KÊQ>o) nyao Z hmo J`o hmo &
	 15.	 H$moB© ^r a\$ H$m`©, `{X H$moB© hmo, Bg H$m`© hoVw {ZYm©[aV Imbr nÝZm| na hr {H$`m OmZm Mm{h`o & A{V[aŠV nÝZo Zht {X`o Om`o§Jo &
	 16.	 AnZm AZwH«$_m§H$ Am{X {bIZo Ho$ {bE VWm CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎmam| H$mo ^aZo Ho$ {bE Ho$db H$mbo ~m°b ßdmB§Q> noZ H$m à`moJ 

H$a| &

O~ VH$ AmnH$mo `h àíZ-nwpñVH$m ImobZo H$mo Z H$hm Om` V~ VH$ Z Imob| &
Note : The English version of the instructions is printed on the last page of this Question Booklet.
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gm_mÝ` kmZ
general knowledge

	 1.	 amO^mfm H$s{V© nwañH$ma `moOZm H$m _w»` CÔoí` {ZåZ{b{IV _| go H$m¡Z-gm h¡ ?
	 (A)	 Am{YH$m[aH$ H$m`m] _| {hÝXr Ho$ à`moJ H$mo àmoËgm{hV H$aZm 
	 (B)	 Am{YH$m[aH$ H$m`m] _| A§J«oOr H$mo àmoËgm{hV H$aZm 
	 (C)	 ^maV _| joÌr` ^mfmAm| H$mo ~‹T>mdm XoZm 
	 (D)	 {hÝXr Ho$ H${d`m| H$mo gå_mZ XoZm 

		  Which of the following is the main objective of the Rajbhasha Kirti Puraskar Yojana ?

	 (A)	 To encourage the use of Hindi in official work

	 (B)	 To encourage English in official work

	 (C)	 To Promote regional languages in India

	 (D)	 To honour Hindi poets

	 2.	 CËgd nmoQ>©b {H$g df© àmaå^ {H$`m J`m ?
		  In which year was the UTSAV portal launched ?

	 (A)	 2024	 (B)	 2023	 (C)	 2020	 (D)	 2022

	 3.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE &
		        gyMr – I		     gyMr – II

	     (boIH$)		  (nwñVH$)

	 a.	 AaqdX A{S>Jm	 I.	 X Jm°S> Am°\$ ñ_mb {W§½g
	 b.	 {H$aU XogmB©	 II.	 X BZho[aQ>|g Am°\$ bm°g
	 c.	 Aé§YVr am°`	 III.	 X ìhmBQ> Q>mBJa
	 d.	 dr. Eg. Zm`nm°b	 IV.	 BZ E \«$s ñQ>oQ>
		  Hy$Q> :

	 (A)	 a – I, b – III, c – II, d – IV			  (B)	 a – III, b – II, c – I, d – IV

	 (C)	 a – II, b – IV, c – I, d – III			  (D)	 a – IV, b – I, c – III, d – II

		  Match list – I with list – II and select the correct answer from the code given below the lists.

		      List – I		      List – II

	   (Author)		  (Book)
	 a.	 Arwind Adiga	 I.	 The God of small things

	 b.	 Kiran Desai	 II.	 The Inheritance of Loss

	 c.	 Arundhati Roy	 III.	 The White Tiger

	 d.	 V. S. Naipaul	 IV.	 In a free State

		  Code :
	 (A)	 a – I, b – III, c – II, d – IV			  (B)	 a – III, b – II, c – I, d – IV

	 (C)	 a – II, b – IV, c – I, d – III			  (D)	 a – IV, b – I, c – III, d – II
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	 4.	 H$m¡Z-gr ^maVr` H$ånZr, 2024 _| é. 20 bmI H$amo‹S> H$m ~mOma ny±OrH$aU hm{gb H$aZo dmbr ^maVr` nhbr 

H$ånZr ~Z J`r ?

	 (A)	 [abm`§g B§S>ñQ´>rO			 

	 (B)	 Q>r.gr.Eg.

	 (C)	 EM.S>r.E\$.gr. ~¢H$			 

	 (D)	 AS>mZr E§Q>aàmBOoO

	 	 Which Indian company became the first Indian company to achieve a market capitalization of Rs. 20 lakh 

crore in 2024 ?

	 (A)	 Reliance industries			 

	 (B)	 T.C.S.

	 (C)	 HDFC Bank			 

	 (D)	 Adani Enterprises

	 5.	 {H$g Iwe~yXma CnO Ho$ CËnmXZ Ho$ {bE ZmJm¡a à{gÕ h¡ ?

	 (A)	 Oram			   (B)	 _oWr	

	 (C)	 bhgwZ			   (D)	 Y{Z`m

		  Nagaur is famous for the production of which aromatic crop ?

	 (A)	 Cumin seeds			   (B)	F enugreek	

	 (C)	 Garlic			   (D)	 Coriander

	 6.	 ^maV H$m nhbm nwZ:à`moÁ` hmB©{~«S> amHo$Q> é_r - I àjo{nV {H$`m J`m

	 (A)	 31 {Xg§~a 2024			 

	 (B)	 04 {Xg§~a 2024

	 (C)	 04 {gV§~a 2024			 

	 (D)	 24 AJñV 2024

	 	 India’s first reusable hybrid rocket Rhumi-I was launched on

	 (A)	 December 31, 2024			 

	 (B)	 December 04, 2024

	 (C)	 September 04, 2024			 

	 (D)	 August 24, 2024
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	 7.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE &

		  gyMr – I		       gyMr – II

	 (_wŠV {díd{dÚmb`)		   (ñWmZ)

	 a.	 ½bmo~b _wŠV {díd{dÚmb`	 I.	 H$moQ>m

	 b.	 ZoVmOr gw^mfM§Ð ~mog _wŠV {díd{dÚmb`	 II.	 H$mobH$mVm

	 c.	 dY©_mZ _hmdra _wŠV {díd{dÚmb`	 III.	 {dbmgnwa

	 d.	 n§. gwÝXabmb e_m© _wŠV {díd{dÚmb`	 IV.	 Xr_mnwa

		  Hy$Q> :
	 (A)	 a – IV, b – III, c – II, d – I			  (B)	 a – III, b – II, c – IV, d – I

	 (C)	 a – II, b – I, c – IV, d – III			  (D)	 a – IV, b – II, c – I, d – III

		  Match list – I with list – II and select the correct answer from the code given below the lists.

		            List – I		   List – II

	 (Open University)		  (Place)

	 a.	 Global Open University	 I.	 Kota

	 b.	 Netaji Subhashchandra Bose	 II.	 Kolkata

		  Open University

	 c.	 Vardhman Mahaveer	 III.	 Bilaspur

		  Open University

	 d.	 Pt. Sundarlal Sharma	 IV.	 Dimapur

		  Open University

		  Code :

	 (A)	 a – IV, b – III, c – II, d – I			  (B)	 a – III, b – II, c – IV, d – I

	 (C)	 a – II, b – I, c – IV, d – III			  (D)	 a – IV, b – II, c – I, d – III

	 8.	 BZ_| go H$m¡Z {ejm H$m EH$ AZm¡nMm[aH$ A{^H$aU g«moV Zht h¡ ?

	 (A)	 n[adma			   (B)	 g_wXm`

	 (C)	 gm_mÝ` Iob			   (D)	 Ym{_©H$ g§ñWmE±

		  Which one of the following is not a source of informal agency of education ?

	 (A)	 The family			   (B)	 The community

	 (C)	 General games			   (D)	 Religious institutions
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	 9.	 {ZåZ H$mo EH$ AZwH«$_ _| àmaå^ go ewê$ H$aHo$ ì`dpñWV H$s{OE &
	 I.	 emoY g_ñ`m H$m M`Z
	 II.	 emoY {d{Y
	 III.	 emoY Ho$ CÔoí`
	 IV.	 Am±H$‹S>m| H$m g§J«h

		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
		  Hy$Q> :
	 (A)	 I, II, IV, III			   (B)	 I, IV, III, II
	 (C)	 II, III, IV, I			   (D)	 I, III, II, IV
		  Arrange the following from beginning in a sequence. 
	 I.	 Selection of research problem
	 II.	 Method of research
	 III.	 Objective of research
	 IV.	 Data collection
		  Choose the correct answer from the code given below :
		  Code :
	 (A)	 I, II, IV, III			   (B)	 I, IV, III, II
	 (C)	 II, III, IV, I			   (D)	 I, III, II, IV

	 10.	 ZrMo Xmo H$WZ h¢ {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &

		  A{^H$WZ (A) : EZ.AmB©.Ama.E\$. EH$ a¢qH$J àUmbr h¡ {Ogo ^maV gaH$ma Ho$ {ejm _§Ìmb` Zo 2015 _| ewê$  
	        {H$`m Wm & 

		  H$maU (R) : EZ.AmB©.Ama.E\$. H$m CÔoí` {d{^ÝZ _mnXÊS>m| Ho$ AmYma na ^maV ^a _| CÀM {ejm g§ñWmZm| H$m 
{Zînj Am¡a nmaXeu _yë`m§H$Z àXmZ H$aZm h¡ &

		  ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :

		  Hy$Q> :
	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R) , (A) H$s ghr ì`m»`m H$aVm h¡ 
	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢ naÝVw (R) , (A) H$s ghr ì`m»`m Zht H$aVm h¡ 
	 (C)	 (A) gË` h¡ naÝVw (R) JbV h¡ 
	 (D)	 (A) JbV h¡ naÝVw (R) gË` h¡ 
		  Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
		  Assertion (A) : The NIRF is a ranking system introduced by the Ministry of Education,  

		  Govt. of India in 2015.
		  Reason (R) : NIRF aims to provide a fair and transparent assessment of higher education  

	          institution across India based on various parameters.
		  Select the correct answer from the code given below :
		  Code :
	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A)
	 (B)	 Both (A) and (R) are true but (R) is not the correct explanation of (A)
	 (C)	 (A) is true but (R) is false
	 (D)	 (A) is false but (R) is true
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	 11.	 àemgZ _| {~J S>oQ>m EZm{b{Q>Šg Ho$ à_wI Cn`moJ Š`m h¢ ?

	 a.	 ~r_m[a`m| Ho$ àgma na ZOa aIZm &

	 b.	 MwZmd n[aUm_m| H$s ^{dî`dmUr H$aZm &

	 c.	 gmB~a gwajm ~‹T>mZm &

	 d.	 gaH$mar H$a amOñd _| d¥{Õ &

		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :

		  Hy$Q> :

	 (A)	 Ho$db a, b, c 			   (B)	 Ho$db a, c, d

	 (C)	 Ho$db c, b			   (D)	 Ho$db b, d

		  What are the major uses of Big data Analytics in governance ?
	 a.	 Tracking the spread of diseases.
	 b.	 Predicting election outcomes.
	 c.	 Enhancing cyber security.
	 d.	 Increasing govt. tax revenue.

		  Choose the correct answer from the code given below :

		  Code : 
	 (A)	 a, b, c only			   (B)	 a, c, d only
	 (C)	 c, b only			   (D)	 b, d only

	 12.	 ãby_ Ûmam à{Vnm{XV kmZmË_H$ e¡{jH$ CÔoí`mo§ _| {ZåZ{b{IV _| go H$m¡Z gpå_{bV Zht h¡ ?

	 (A)	 ~moY	 (B)	AZwà`moJ	 (C)	 {díbofU	 (D)	 ì`dñWm

		  Which of the following is not included in the cognitive educational objective proposed by bloom ?

	 (A)	 Comprehension	 (B)	 Application	 (C)	 Analysis	 (D)	 Organization

	 13.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ AmB©.gr.Q>r. àUmbr H$m KQ>H$ Zht h¡ ?

	 (A)	 hmS>©do`a	 (B)	 gmâQ>do`a	 (C)	 gyMZm	 (D)	 ~m`mo_o{Q´>H$ g|ga

		  Which of the following is not a component of an ICT system ?

	 (A)	 Hardware 	 (B)	 Software	 (C)	 Information	 (D)	 Biometric sensors

	 14.	 H$åß`yQ>a H$s _o_moar Omo CgHo$ {Z_m©U Ho$ g_` àmoJ«m_ H$s OmVr h¡, H$hbmVr h¡ 

	 (A)	 Ama Amo E_	 (B)	Ama E E_	 (C)	 nr Ama Amo E_	 (D)	 B© nr Ama Amo E_

		  The memory of the computer which is programmed at the time of its manufacturing is called as 

	 (A)	 ROM	 (B)	 RAM	 (C)	 PROM	 (D)	 EPROM
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	 15.	 {ZåZ _| go H$m¡Z EH$ H¥${Ì_ ~w{Õ_Îmm (EAmB©) CnH$aU Zht h¡ ?

	 (A)	 JyJb ßbo ñQ>moa			   (B)	 Oo{_Zr

	 (C)	 ŠbmCS>			   (D)	 M¡Q> OrnrQ>r

	 	 Which one of the following is not an Artificial Intelligence(AI) tool ?
	 (A)	 Google play store			   (B)	 Gemini
	 (C)	 Claude			   (D)	 Chat GPT

	 16.	 {ZåZ{b{IV _| go H$m¡Z _¥Xm àXÿfU H$m H$maU h¡ ?

	 (A)	 AmoOmoZ	 (B)	 Eamogmb	 (C)	 E{gS>-dfm©	 (D)	 ñ_moJ

		  Which of the following is the cause of soil pollution ?
	 (A)	 Ozone	 (B)	 Aerosol	 (C)	 Acid-rain	 (D)	 Smog

	 17.	 ""{bpå~H$ VÝÌ'' ^mJ h¡

	 (A)	 àOZZ VÝÌ H$m			   (B)	 V§{ÌH$m VÝÌ H$m	

	 (C)	 nmMZ VÝÌ H$m			   (D)	 CËgO©Z VÝÌ H$m

		  “Limbic system” is part of 
	 (A)	 Reproductive system			   (B)	 Nervous system	
	 (C)	 Digestive system			   (D)	 Excretory system

	 18.	 {ZåZ{b{IV _| go H$m¡Z ^maV _| 31 {Xg§~a 2024 VH$ am_ga ñWb h¡ ?

	 a.	 ~{Iam dÝ`Ord A^`maÊ`	

	 b.	 am_J‹T> Prb

	 c.	 gwÝXa~Z AmÐ©^y{_

	 d.	 gwëVmZnwa amîQ´>r` CÚmZ

		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :

	 Hy$Q> :

	 (A)	 Ho$db a Am¡a b			   (B)	 Ho$db b, c Am¡a d

	 (C)	 a, b, c Am¡a d			   (D)	 Ho$db a Am¡a c

		  Which of the following is a Ramsar site in India as on December 31, 2024 ?
	 a.	 Bakhira Wildlife Sanctuary
	 b.	 Ramgarh Lake
	 c.	 Sundarban Wetland
	 d.	 Sultanpur National Park

		  Choose the correct answer from the code given below :
		  Code :
	 (A)	 a and b only			   (B)	 b, c and d only
	 (C)	 a, b, c and d 			   (D)	 a and c only
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	 19.	 "~¡aZ' Ûrn pñWV h¡§
	 (A)	 AÊS>_mZ _|	 (B)	 {ZH$mo~ma _|	 (C)	 bjÛrn _|	 (D)	 {_{ZH$m` _|

		  ‘Barren’ Island is situated in
	 (A)	 Andaman	 (B)	 Nicobar	 (C)	L akshadweep	 (D)	 Minicoy

	 20.	 AmU{dH$ D$Om© g§ñWmZ, Q´>må~o H$s ñWmnZm H$~ hþB© Wr ?

		  In which year Atomic Energy Institute, Trombay was established ?

	 (A)	 1948	 (B)	 1950	 (C)	 1952	 (D)	 1954

	 21.	 ZrMo AmÐ©^y{_ ñWb Ed§ amÁ`m| Ho$ Zm_ Ho$ Omo‹S>o {X`o J`o h¢ & ghr Omo‹S>m§o H$m MwZmd H$s{OE &

	 	 AmÐ©^y{_ ñWb		  amÁ`
	 1.	 eŠ` gmJa          –		  _Ü`àXoe
	 2.	 {ganwa> doQ>b¡ÊS>     –		  {Ìnwam
	 3.	 nmbm doQ>b¡ÊS>      –		  _oKmb`
	 4.	 gwa gamoda          –		  CÎmaàXoe 
	 (A)	 1 Ed§ 2 ghr h¡§ 			   (B)	 1 Ed§ 4 ghr h¡§
	 (C)	 2 Ed§ 3 ghr h¡§			   (D)	 2 Ed§ 4 ghr h¡§
		  Ramsar sites and name of states paired below. Choose the correct pair.
	 	R amsar Site 		  state 
	 1.	 Sakya Sagar	 –	 Madhya Pradesh 
	 2.	 Sirpur Wetland	 –	 Tripura
	 3.	 Pala Wetland	  –	 Meghalaya
	 4.	 Sur Sarovar	 –	 Uttar Pradesh 
	 (A)	 1 and 2 are correct 			   (B)	 1 and 4 are correct
	 (C)	 2 and 3 are correct			   (D)	 2 and 4 are correct

	 22.	 {H$g A{^boI _| H$mbrXmg Ed§ ^madr XmoZmo§ H$m CZHo$ Zm_m| go CëboI {_bVm h¡ ? 
	 (A)	 à`mJ àepñV			   (B)	 Eohmobo àepñV
	 (C)	 A`moÜ`m A{^boI			   (D)	 {^Var ñVå^ A{^boI

		  In which inscription both Kalidas and Bharavi are mentioned by their names ? 
	 (A)	 Prayag Prashasti			   (B)	 Aihole Prashasti
	 (C)	 Ayodhya Inscription 			   (D)	 Bhitari Pillar inscription 

	 23.	 X{jU A\«$sH$m _| Owbw {dÐmooh Ho$ g_` Jm±YrOr H$mo A§J«oOm| H$s goZm _| H$m¡Z-gr nXdr Xr J`r Wr ? 
	 (A)	 H$Z©b	 (B)	 gmO}ÝQ>	 (C)	 gmO}ÝQ> _oOa	 (D)	 _oOa
		  Which rank was given to Gandhiji in British Army at the time of Julu Revolt in South Africa ? 
	 (A)	 Colonel	 (B)	 Sergeant	 (C)	 Sergeant Major	 (D)	 Major

	 24.	 "~m~aZm_m' {H$g ^mfm _| {bIr J`r Wr ? 
	 (A)	 nmagr	 (B)	 VwH$s©	 (C)	Aa~r	 (D)	 CXÿ©

		  In which language was ‘Babarnama’ written ? 
	 (A)	 Persian	 (B)	 Turkish 	 (C)	 Arabic	 (D)	 Urdu 
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	 25.	 OZ{hV `m{MH$m H$s AdYmaUm H$s CËn{Îm hþB©
	 (A)	 AmñQ´>o{b`m _|			   (B)	 ^maV _| 
	 (C)	 g§`wŠV amÁ` A_o[aH$m _|			   (D)	 `wZmBQ>oS> qH$JS>_ _o§ 

		  The concept of Public Interest Litigation was originated in 

	 (A)	 Australia			   (B)	 India

	 (C)	 United States of America			   (D)	 United Kingdom (U.K.)

	 26.	 g§{dYmZ g^m H$m àW_ A{YdoeZ gÌ H$~ Am`mo{OV hþAm Wm ? 
	 (A)	 16  AJñV 1947			   (B)	 26  OZdar 1947

	 (C)	 09  {Xg§~a 1946			   (D)	 26  Zd§~a 1946

	 	 When was the first session of constitutional Assembly held ? 

	 (A)	 16th August 1947			   (B)	 26th January 1947

	 (C)	 09th December 1946			   (D)	 26th November 1946

	 27.	 ^maV Ho$ g§{dYmZ _| {ZåZ{b{IV _| go H$m¡Z-gm AZwÀN>oX d`ñH$ _Vm{YH$ma go g§~§{YV h¡ ? 
	 (A)	 AZwÀN>oX 324	 (B)	AZwÀN>oX 325	 (C)	AZwÀN>oX 326	 (D)	 AZwÀN>oX 327

		  Which one of the following articles of constitution of India deals with adult suffrage ?

	 (A)	 Article 324	 (B)	 Article 325	 (C)	 Article 326	 (D)	 Article 327

	 28.	 Mmdb CËnmXZ _| ^maV H$m {díd _| H$m¡Z-gm ñWmZ h¡ ?
	 (A)	 àW_	 (B)	 {ÛVr`	 (C)	 V¥Vr`	 (D)	 MVwW©

		  What is the rank of India in the world in rice production ? 

	 (A)	 1st 	 (B)	 2nd 	 (C)	 3rd	 (D)	 4th 

	 29.	 nr.Eb.AmB©. (P.L.I.) ñH$s_ {H$g EH$ joÌ go g§~§{YV Zht h¡ ?
	 (A)	 _mo~mBb {d{Z_m©U			   (B)	AmQ>mo_mo~mBb CÚmoJ
	 (C)	 {M{H$Ëgm CnH$aU			   (D)	 CnamoŠV _| go H$moB© Zht 

		  PLI scheme is not related to which one of the following ?

	 (A)	 Mobile manufacturing		   	 (B)	 Automobile industry

	 (C)	 Medical devices			   (D)	 None of the above 

	 30.	 ^maV _| ñdV§ÌVm Ho$ níMmV ^y{_ gwYma H$mo bmJy H$aZo H$m àmW{_H$ CÔoí` Wm
	 (A)	 ^y{_hrZ {H$gmZm| H$mo ^y{_ H$m nwZ{d©VaU	 (B)	AMb gån{Îm H$mo ~‹T>mdm XoZm
	 (C)	 H¥${f CÚmoJm| H$mo àmoËgm{hV H$aZm	 (D)	IoVr hoVw H¥${f ^y{_ H$m {ZOrH$aU

		  The primary objective of land reform in India implemented in the post Independence was

	 (A)	 Redistribution of land to landless farmer	 (B)	 To promote real estate 

	 (C)	 Promotion of agro industries 	 (D)	 Privatization of agricultural land for cultivation



	 -10-	 77

gm§p»`H$s
statistics

	 31.	 `{X A Am¡a B Eogr Xmo KQ>ZmE± h¡ {OZ_| H$moB© {~ÝXþ g_mZ Zht h¡, Vmo KQ>Zm A Am¡a B h¡
	 (A)	 EH$ Xÿgao Ho$ nyaH$			   (B)	 ñdV§Ì
	 (C)	 nañna AndOu			   (D)	Am{lV>
		  If A and B are two events which have no point in common, then event A and B are
	 (A)	 Complementary to each other	 (B)	 Independent
	 (C)	 Mutually exclusive			   (D)	 Dependent

	 32.	 Xmo KQ>ZmAm| A Am¡a B Ho$ K{Q>V hmoZo H$s ì`pŠVJV àm{`H$VmE± kmV h¡, XmoZm| KQ>ZmAm| Ho$ EH$ gmW K{Q>V hmoZo H$s 
àm{`H$Vm _______ hmoJr &

	 (A)	A{YH$	 (B)	 H$_	 (C)	 EH$	 (D)	 eyÝ`>
		  The individual probabilities of occurrence of two events A and B are known, the probability of 

occurrence of both the events together will be
	 (A)	 greater	 (B)	 smaller	 (C)	 one	 (D)	 zero

	 33.	 EH$ {ÛnX ~§Q>Z H$m _mÜ` Am¡a àgaU H«$_e: 8 Am¡a 4 h¡ & P[X = 1] ~am~a hmoJm
		  The mean and variance of a Binomial distribution are 8 and 4 respectively. P[X = 1] is equal to 

	 (A)	 1
2

12
	 (B)	 1

2
4
	 (C)	 1

2
6
	 (D)	 1

2
8
>

	 34.	 {H$gr Xoe _| ì`pŠV`m| H$s D±$MmB© {H$g àH$ma H$m `mÑpÀN>H$ Ma h¡ ?
	 (A)	 gVV `mÑpÀN>H$ Ma
	 (B)	 {d{dŠV `mÑpÀN>H$ Ma
	 (C)	 Z Vmo {d{dŠV Am¡a Z hr gVV `mÑpÀN>H$ Ma
	 (D)	 gVV Am¡a gmW hr {d{dŠV `mÑpÀN>H$ Ma
		  The height of persons in a country is random variable of the type
	 (A)	 Continuous random variable
	 (B)	 Discrete random variable
	 (C)	 Neither discrete nor continuous random variable
	 (D)	 Continuous as well as discrete random variable

	 35.	 r = 1 Ho$ {bE F$UmË_H$ {ÛnX ~§Q>Z nb(x, r, p) H$_ hmo OmVm h¡ 
	 (A)	 {ÛnX ~§Q>Z			   (B)	 nm°BgZ {dVaU/~§Q>Z 
	 (C)	 JwUmoÎma ~§Q>Z			   (D)	 hmBna{OAm°_o{Q´>H$ ~§Q>Z>
		  Negative Binomial distribution nb(x, r, p) for r = 1 reduces to
	 (A)	 Binomial distribution			   (B)	 Poisson distribution
	 (C)	 Geometric distribution			   (D)	 Hypergeometric distribution

	 36.	 {ÛMa àgm_mÝ` ~§Q>Z _| (r, s) dm§ AmKyU© Mx, y (t1, t2) Ho$ JwUm§H$ Ho$ ê$n _| nm`m Om gH$Vm h¢
		  (r, s)th moment in a bivariate normal distribution can be found Mx, y (t1, t2) as the coefficient of

	 (A)	 t t
r

r s
1 2 	 (B)	 t t

r s

r s
1 2 	 (C)	 t t

r s
r s
1 2

! !
	 (D)	 t tr s

1 2
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	 37.	 `{X {H$gr g_wÀM` Ho$ àË`oH$ AdbmoH$Z H$mo 10 go {d^m{OV {H$`m Om`, Vmo Z`o AdbmoH$Zm| H$m Eg. S>r. h¡

	 (A)	 _yb AdbmoH$Zm| Ho$ Eg. S>r. H$m 1
10

 dm§ ^mJ

	 (B)	 _yb AdbmoH$Zm| Ho$ Eg. S>r. H$m 
1

100
 dm§ ^mJ

	 (C)	 H$moB© n[adV©Z Zht hmoJm
	 (D)	 _yb AdbmoH$Zm| Ho$ Eg. S>r. H$m 10 JwUm>
		  If each observation of a set is divided by 10, then the S. D. of the new observations is

	 (A)	
1

10

th

 of the S. D. of original observation

	 (B)	
1

100

th 

of the S. D. of the original observation

	 (C)	 not changed
	 (D)	 10 times of S. D. of the original observations

	 38.	 `{X {H$gr Amd¥{Îm ~§Q>Z H$m _mÜ`, _mZH$ {dMbZ Am¡a ~¡få` JwUm§H$ H«$_e: 60, 45 Am¡a –0.4 h¡, Vmo Amd¥{Îm 
~§Q>Z H$m ~hþbH$ hmoJm

	 	 If the mean, standard deviation and coefficient of Skewness of a frequency distribution are 60, 45 
and –0.4 respectively, then the mode of the frequency distribution is

	 (A)	 80	 (B)	 82	 (C)	 78	 (D)	 68

	 39.	 `{X X Am¡a Y ñdV§Ì hmo, Vmo g_ml`U JwUm§H$ βyx H$m ~am~a hmoJm
	 (A)	 0			   (B)	 1	
	 (C)	∞			   (D)	 EH$ YZmË_H$ g§»`m
	 	 If X and Y are independent, then the value of regression coefficient βyx is equal to

	 (A)	 0			   (B)	 1

	 (C)	∞			   (D)	 A positive number

	 40.	 O~ àM` _| H$moB© Iam~r Zht h¡, Vmo p = 0 Ho$ {bE OC H$m \$bZ hmoVm h¢
		  When there is no defective in the lot, then the OC function for p = 0 is
	 (A)	L (0) = 0	 (B)	L (0) = 1	 (C)	L (0) = ∞	 (D)	L (0) = – ∞

	 41.	 `{X CnZ{V g_rH$aU y = a + bx _| _yb q~Xþ H$mo Xmo df© nrN>o ñWmZm§V[aV H$a {X`m Om`, Vmo CnZ{V g_rH$aU 
_| Ma X H$mo _______ Ûmam à{VñWm{nV {H$`m OmEJm &

		  If the origin in the trend equation y = a + bx is shifted backward by two years, then the variable X in 
the trend equation will be replaced by

	 (A)	 (X – 2)	 (B)	 (X + 2)	 (C)	 X
2

	 (D)	 (X + 2)2

	 42.	 {XE JE nm±M _mZm| 15, 24, 18, 33 Am¡a 42 Ho$ {bE VrZ dfm] Ho$ Mb Am¡gV h¢ 

	 	 For the given five values 15, 24, 18, 33 and 42, the three years moving averages are

	 (A)	 19, 22, 33	 (B)	 19, 25, 31	 (C)	 19, 30, 31	 (D)	 19, 31, 33
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	 43.	 ^maV H$s ñdV§ÌVm Ho$ ~mX, OÝ_ Am¡a _¥Ë ẁ n§OrH$aU A{Y{Z`_ _________ _| nm[aV {H$`m J`m Wm &

		  In post-independent India, the registration of Births and Deaths Act was passed on

	 (A)	 1948	 (B)	 1959	 (C)	 1969	 (D)	 1979

	 44.	 gyMH$m§H$ g§»`m Ho$ g§X^© _| g_ê$nVm Ìw{Q> H$s gr_m __________ hmoVr h¡ &

	 (A)	 0 go 1	 (B)	 0 go ∞	 (C)	 –1 go 1	 (D)	 –∞ go ∞

		  The range of homogeneity error in reference to index numbers is

	 (A)	 0 to 1	 (B)	 0 to ∞	 (C)	 –1 to 1	 (D)	 –∞ to ∞

	 45.	 `{X g_yh gyMH$m§H$ 80, 120 Am¡a 125 h¡ Am¡a CZHo$ g§~§{YV g_yh ^ma 60, 20 Am¡a 20 h¡, Vmo Cn^moŠVm _yë` 
gyMH$m§H$ h¢

		  If the group indices are 80, 120 and 125 and their respective group weights are 60, 20 and 20, then 

the consumer price index is

	 (A)	 108.33	 (B)	 97.00	 (C)	 98.49	 (D)	 101.41

	 46.	 _mZ br{OE x1, x2, ..., x21 EH$ ~§Q>Z go EH$ `mÑpÀN>H$ à{VXe© h¡, {OgH$m à{VXe© àgaU 5 h¡ & _mZm 

		  X xi
i

=
=
∑1

21 1

21
 Am¡a S X Xi

i

= −( )
=
∑

2

1

21
, Vmo E(S) H$m _mZ h¡ 

		L  et x1, x2, ..., x21 be a random sample from a distribution having the sample variance 5. 

		L  et X xi
i

=
=
∑1

21 1

21

 and S X Xi
i

= −( )
=
∑

2

1

21

, then the value of E(S) is

	 (A)	 5	 (B)	 100	 (C)	 0.25	 (D)	 105

	 47.	 _mZ br{OE X Am¡a Y Xmo ñdV§Ì àgm_mÝ` `mÑpÀN>H$ Ma h¡, Vmo U
x y
x y

=
−
+











2

 H$m ~§Q>Z h¡

	 (A)	 2d.f. Ho$ gmW H$mB©-dJ©			 

	 (B)	 1d.f. Ho$ gmW H$mB©-dJ©

	 (C)	 (2, 2) d.f. Ho$ gmW F			 

	 (D)	 (1, 1) d.f. Ho$ gmW F

		L  et X and Y be two independent normal random variables, then the distribution of U
x y
x y

=
−
+











2

 is

	 (A)	 Chi-square with 2d.f.			 

	 (B)	 Chi-square with 1d.f.

	 (C)	F  with (2, 2) d.f.			 

	 (D)	F  with (1, 1) d.f.
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	 48.	 _mZ b| `mÑpÀN>H$ Ma X, àmMb 3 Am¡a θ Ho$ gmW EH$ {ÛnX ~§Q>Z aIVm h¡ &

		  H1 : θ = 1
4  Ho$ {déÕ H0 : θ = 3

4
 n[aH$ënZm H$m narjU AñdrH$ma hmoVm h¡ `{X x ≤ 1 V~ narjU aIVm h¡

	 (A)	 Am_mn = 5
32

, epŠV = 27
32 	 (B)	 Am_mn = 5

32
, epŠV = 18

32  

	 (C)	 Am_mn = 15
32

, epŠV = 27
32 	 (D)	 Am_mn = 1

32 , epŠV = 31
32

		L  et the random variable X have binomial distribution with parameters 3 and θ. A test of hypothesis 

H0 : θ = 3
4

 against H1 : θ = 1
4

 rejects H0 if x ≤ 1, then the test have

	 (A)	 Size = 5
32

, power = 27
32 	 (B)	 Size = 5

32
, power = 18

32  

	 (C)	 Size = 15
32

, power = 27
32 	 (D)	 Size = 1

32 , power = 31
32

	 49.	 `{X ~‹S>r BH$mB`m| Ho$ à{VXe© _| em{_b hmoZo H$s A{YH$ àm{`H$Vm h¡, Vmo `h kmV h¡
	 (A)	 à{VñWmnZ Ho$ gmW M`Z
	 (B)	AmH$ma Ho$ AZwnmV _| àm{`H$Vm Ho$ gmW M`Z
	 (C)	 pñWam§H$ àm{`H$Vm Ho$ gmW M`Z
	 (D)	 àm{`H$Vm M`Z>
		  If larger units have greater probability of their inclusion in the sample, it is known as
	 (A)	 Selection with replacement
	 (B)	 Selection with probability proportional to size
	 (C)	 Selection with constant probability
	 (D)	 Probability selection

	 50.	 Am_mn ‘n’ H$m EH$ à{VXe© à{VñWmnZm g{hV EH$ {Û^mfr OZg§»`m go {b`m J`m h¡ & `{X à{VXe© _| loUr I H$s 
dñVwAm| H$m AZwnmV p Am¡a loUr II H$m AZwnmV q h¡, Vmo AZwnmV p H$m _mZ h¡

	 	 A sample of size ‘n’ is drawn with replacement from a dichotomous population. If the sample has 
proportion p of items of category I and proportion q of category II, then the estimates of proportion 
p is

	 (A)	 s
n

pqp
2 1

1
=

−
	 (B)	 s

n
pqp

2 1
= 	 (C)	 s

n
n

pqp
2

1
=

−
	 (D)	 s

n
p qp

2 21
1

=
−

	 51.	 gd}jUm| _| J¡a à{V{H«$`m H$m AW© hmoVm h¡ 
	 (A)	 CÎmaXmVmAm| H$s AZwnbãYVm
	 (B)	 CÎmaXmVmAm| Ûmam àíZmdbr dmng Z H$aZm 
	 (C)	 à{Vdm{X`m| Ûmam gyMZm XoZo go BZH$ma
	 (D)	 CnamoŠV g^r
		  Non-response in Surveys mean 
	 (A)	 Non-availability of respondents
	 (B)	 Non-return of questionnaire by respondent
	 (C)	 Refusal to give information by the respondent 
	 (D)	 All the above
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	 52.	 {ZåZ{b{IV A{^H$ënm| H$mo O{Q>bVm Ho$ $~‹T>Vo H«$_ _| ì`dpñWV H$a| & 
	 a.	 nyU© `mÑpÀN>H$ A{^H$ënZm
	 b.	 `mÑpÀN>H$ IÊS> A{^H$ënZm 
	 c.	 b¡{Q>Z dJ© A{^H$ënZm
	 d.	 g§Vw{bV AnyU© IÊS> A{^H$ënZm 

		  ZrMo {XE JE {dH$ënm| _|> go ghr CÎma Mw{ZE :
	 (A)	 d, c, a	 (B)	 a, b, c	 (C)	 a, d, c	 (D)	 b, a, c

		  Arrange the following designs in ascending order of complexity.
	 a.	 Completely random design
	 b.	 Randomized block design
	 c.	L atin square design
	 d.	 Balance incomplete block design

		  Choose the correct answer from the options given below.
	 (A)	 d, c, a	 (B)	 a, b, c	 (C)	 a, d, c	 (D)	 b, a, c

	 53.	 {ZåZ{b{IV A{^gaU AdYmaUmAm| H$mo CZH$s epŠV Ho$ Amamohr H«$_ go ì`dpñWV H$a| (g~go H$_Omoa go g~go 
_O~yV VH$) &

	 a.	 àm{`H$Vm _| A{^gaU 
	 b.	 ~§Q>Z _| A{^gaU
	 c.	 bJ^J {ZpíMV A{^gaU

		  ZrMo {XE JE {dH$ënm| _|> go ghr CÎma Xr{OE :
	 (A)	 Ho$db c, b, a	 (B)	 Ho$db b, c, a	 (C)	 Ho$db a, b, c	 (D)	 Ho$db b, a, c
		  Arrange the following convergence concepts in ascending order of their strength (weakest to strongest).
	 a.	 Convergence in probability
	 b.	 Convergence in distribution
	 c.	 Almost sure convergence 

		  Choose the correct answer from the options given below.
	 (A)	 c, b, a only	 (B)	 b, c, a only	 (C)	 a, b, c only	 (D)	 b, a, c only

	 54.	 ~hþMa Am§H$‹S>mo na CZH$s gm_mÝ` à`moÁ`Vm Ho$ Adamohr H«$_ _| {ZåZ{b{IV {d{Y`m| H$mo ì`dpñWV H$a| :
	 a.	 _hmbZmo{~g Xÿar
	 b.	 à_wI KQ>H$ {díbofU
	 c.	 H$maH$ {díbofU
		  ZrMo {XE JE {dH$ënm| _|> go ghr CÎma Mw{ZE :
	 (A)	 Ho$db c, b, a	 (B)	 Ho$db a, b, c	 (C)	 Ho$db b, c, a	 (D)	 Ho$db c, a, b

		  Arrange the following methods in descending order of their general applicability to multivariate 
data :

	 a.	 Mahalanobis Distance

	 b.	 Principal Component Analysis

	 c.	F actor Analysis
		  Choose the correct answer from the options given below :
	 (A)	 c, b, a only	 (B)	 a, b, c only	 (C)	 b, c, a only	 (D)	 c, a, b only
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	 55.	 ZrMo Xmo H$WZ h¡, {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &

		  A{^H$WZ (A) : g§Vw{bV AnyU© IÊS>H$ A{^H$ënZm _| àË`oH$ CnMma g_mZ g§»`m _| IÊS>m| _| {XImB© XoVm h¡ & 
	 	 H$maU (R) : BIBD _|, IÊS>m| H$s g§»`m, à{V IÊS> CnMmam| H$s g§»`m Am¡a àË òH$ CnMma H$s à{VH¥${V 		  	  

    	     H$s g§»`m g^r {d{eîQ> g§`moOZ JwUm| Ûmam {ZYm©[aV H$s OmVr h¡ &

		  ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :
		  Hy$Q> :
	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m H$aVm h¢ 
	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht H$aVm h¢ 
	 (C)	 (A) gË` h¡ naÝVw (R) JbV h¡ 
	 (D)	 (A) JbV h¡ naÝVw (R) gË` h¡ 
		  Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
		  Assertion (A)   :	 In a BIBD Incomplete Block design, each treatments appears in the same 			 

	  number of blocks.
		  Reason (R) :	 In a BIBD, the number of blocks, the number of treatments per block and number of 

replications of each treatment are all determined by specific combinational properties.
		  Select the correct answer from the codes given below :
		  Codes :
	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A)

	 (B)	 Both (A) and (R) are true but (R) is not the correct explanation of (A)

	 (C)	 (A) is true but (R) is false

	 (D)	 (A) is false but (R) is true

	 56.	 {ZåZ H$mo EH$ AZwH«$_ _| ì`dpñWV H$s{OE :

	 I.	 H$maH$m| Am¡a CZHo$ ñVam| H$s nhMmZ H$a| &

	 II.	 CÔoí` Am¡a à{V{H«$`m Ma H$mo n[a^m{fV H$a| & 

	 III.	 H$maH$m| Ho$ {d{^Þ g§`moOZm| H$mo bmJy H$aHo$ à`moJ H$m g§MmbZ H$ao§ &

	 IV.	 à`moJmË_H$ BH$mB`m| H$mo CnMma `mÑpÀN>H$ ê$n go Amd§{Q>V H$a| & 

		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
		  Hy$Q> :
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV
		  Arrange the following steps in a sequence :
	 I.	 Identify the factors and their levels. 
	 II.	 Define the objective and the response variable to be measured. 
	 III.	 Conduct the experiment by applying the different combinations of factors levels.
	 IV.	 Randomly assign the treatment to the experimental Units.

		  Choose the correct answer from the code given below :
		  Code :
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV
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	 57.	 _mZ bo {H$ X1, X2, X3, Xk (k = 1, 2, 3) Ho$ gmW ñdV§Ì `mÑpÀN>H$ Ma h¡, àm{`H$Vm KZËd \$bZ

		   
f x k e x
k

k x
( ) ,

,
= < < ∞






−θ θ `{X
AÝ`Wm

0
0

		  Ohm± θ > 0, θ Ho$ {bE n`m©ßV Am±H$‹S>o h¢
		L  et X1, X2, X3 be independent random variables with Xk (k = 1, 2, 3), the probability density 

function

		
f x k e if x

otherwisek

k x
( ) ,

,
= < < ∞






−θ θ 0
0

		  where θ > 0, the sufficient statistics for θ is
	 (A)	 x1 + x2 + x3	 (B)	 3x1 + 2x2 + x3	 (C)	 x1 + x2 + 3x2	 (D)	 x1 + 2x2 + 3x3

	 58.	 {ZåZ àojUm| H$m _mZH$ {dMbZ h¢

	           − − − − − − −1 2 3 4 5 6 7, , , , , , ,  1 2 3 4 5 6 7, , , , , ,  
		  Standard deviation of the observations 

	           − − − − − − −1 2 3 4 5 6 7, , , , , , ,  1 2 3 4 5 6 7, , , , , ,   is

	 (A)	 2 	 (B)	 2	 (C)	 2 2 	 (D)	 4

	 59.	 `mÑpÀN>H$ Ma X Eogm h¡ {H$

X m + σ m – σ

P(X) 1
2

1
2

		  V~ Hw$Hw$XVm JwUm§H$ b2 hmoJm

		  A random variable X is such that

X m + σ m – σ

P(X) 1
2

1
2

	 	 then the coefficient of Kurtosis b2 is

	 (A)	 0	 (B)	 1	 (C)	 σ2	 (D)	 σ4

	 60.	 O¡go O¡go N, K Ho$ H$ar~ nhþ±MVm h¡, bm°{OpñQ>H$ _mS>b _| {dH$mg Xa dN
dt( )  H$m Š`m hmoVm h¡ ? Ohm± K dhZ 

j_Vm h¡ 
	 (A)	 `h ZH$mamË_H$ hmo OmVm h¡			   (B)	 `h eyÝ` Ho$ H$ar~ nhþ±MVm h¡
	 (C)	 `h pñWa ahVm h¡			   (D)	 `h ~hþV VoOr go ~‹T>Vm h¡>

		  What happens to the growth rate dN
dt( )  in the logistic model as N approaches 

		  K, when K is the carrying capacity ? 
	 (A)	 It becomes negative	 	 	 (B)	 It approaches zero
	 (C)	 It remains constant			   (D)	 It increases exponentially
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	 61.	 {dMaU H$s g_mZVm H$m narjU H$aZo Ho$ {bE EZmodm _| ~mQ>©boQ> Ho$ narjU Ho$ VhV narjU gm§p»`H$s h¢
		F  or testing the equality of variance, the test statistic under Bartlett’s test in ANOVA is

	 (A)	 χ0
2 2 2026= . q

c 			   (B)	 χ0
2 2 4026= . q

c

	 (C)	 χ0
2 2 5026= . q

c 			   (D)	 χ0
2 2 3026= . q

c
	 62.	 IarXXma EH$ {ZpíMV gr_m VH$ ñdrH¥${V JwUdÎmm ñVa go A{YH$ Iam~ JwUdÎmm H$mo dhZ H$aZo  

Ho$ {bE gh_V h¡, bo{H$Z Cggo A{YH$ Zht & Bg gr{_V _mZ H$mo Bg ê$n _| OmZm OmVm h¢ 
	 (A)	 AQL	 (B)	L TPD	 (C)	 AOQL	 (D)	 {Z_m©Vm H$m Omo{I_
		  The buyer agrees to tolerate a lot quality worse than acceptance quality level up to a certain limit 

but not beyond it. This limiting value is known as
	 (A)	 AQL	 (B)	L TPD	 (C)	 AOQL	 (D)	 Producer’s risk

	 63.	 `{X Rj
2 AÝ` à{VJm_r na Xj H$mo nwZ: àmßV H$aZo go àmßV EH$m{YH$ {ZYm©aU JwUm§H$ h¢, Vmo jth à{VJ_Z JwUm§H$ 

Ho$ {bE {^ÝZVm ñ\$s{V H$maH$ (VIF) H$mo Bg àH$ma {bIm Om gH$Vm h¡
		  If Rj

2 is the coefficient of multiple determination obtained from regressing Xj on other 
		  regression, the variation inflation function (VIF) for the jth regression coefficient can be written as

	 (A)	
1

1 2−( )Rj
	 (B)	

1
1 2+( )Rj

	 (C)	
1

1 2−( )Rj 	 (D)	
1

1 2+( )Rj

	 64.	 `oQ>g (1937) 23 \¡$ŠQ>mo[a`b {S>OmBZ _| O{Q>b à^mdm| Ho$ {bE AZwnmV _________ H$mo gmnoj OmZH$mar H$hVo h¢ &
		  Yates (1937) calls the ratio _________, the relative information for the confounded effects in 23 

factorial designs.

	 (A)	 3
4

	 (B)	 2
3 	 (C)	 1

4 	 (D)	 1
3

	 65.	 ZrMo Xmo H$WZ h¢ {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &
		  A{^H$WZ (A) : à{VJ_Z JwUm§H$ _yb Am¡a n¡_mZo Ho$ n[adV©Z go ñdV§Ì h¡ &
		  H$maU (R) : ghgå~ÝY JwUm§H$ à{VJ_Z JwUm§H$ H$m Á`m{_Vr` _mÜ` h¢ &
		  ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :
		  Hy$Q> :
	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m H$aVm h¡
	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht H$aVm h¡
	 (C)	 (A) gË` h¡ naÝVw (R) JbV h¡
	 (D)	 (A) JbV h¡ naÝVw (R) gË` h¡>
		  Given below are two statements, one is labelled as Assertion (A) and the other as 
		  Reason (R).
	 	A ssertion (A) : Regression coefficients are independent of change of origin and scale.
		  Reason (R) : Correlation coefficient is the geometric mean of the regression relationship.
		  Select the correct answer from the codes given below :
		  Codes :
	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A)
	 (B)	 Both (A) and (R) are true but (R) is not the correct explanation of (A)
	 (C)	 (A) is true but (R) is false
	 (D)	 (A) is false but (R) is true
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	 66.	 _hmbmZmo{~g D2 gm§p»`H$s H$m àmW{_H$ CÔoí` Š`m h¡ ?
	 (A)	 {dMaU EH$ê$nVm Ho$ {bE narjU
	 (B)	 ~hþ{^ÝZê$nr gm_mÝ`V`m H$m AmH$bZ
	 (C)	 EH$ q~Xþ Am¡a EH$ {dVaU Ho$ ~rM H$s Xÿar H$mo _mnZm
	 (D)	 Z_yZm _mÜ` A§Va H$m narjU
		  What is the primary purpose of Mahalonobi’s D2 statistics ?
	 (A)	 Testing for variance Homogeneity
	 (B)	 Assessing multivariate normality
	 (C)	 Measuring the distance between a point and a distribution
	 (D)	 Testing sample means

	 67.	 `mÑpÀN>H$ Ma X Ho$ {bE f x e xx( ) ,= >{ −2 02 , _mpÜ`H$m kmV H$s{OE & 
		F  or a random variable X, f x e xx( ) ,= >{ −2 02 , find the median.

	 (A)	 −
1
2

0 5ln . 	 (B)	 – ln 0.5	 (C)	 −
1
4

0 5ln . 	 (D)	 1
2

	 68.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :
		     gyMr – I	  		   gyMr – II
	 a.	 ~mŠg ßbmQ>	 I.	 Q2			 
	 b.	 AmoOmBãg 	 II.	 _mÌmË_H$ Ma 
	 c.	 {hñQ>moJ«m_ 	 III.	 loUrJV Ma
	 d.	 ~ma MmQ>©	 IV.	 AmCQ>bmBg
		  Hy$Q> :
	 (A)	 a – I	 b – II	 c – III	 d – IV
	 (B)	 a – III	 b – I	 c – II	 d – IV
	 (C)	 a – III	 b – I	 c – IV	 d – II
	 (D)	 a – IV	 b – I	 c – II	 d – III
		  Match List – I with List – II and select the correct answer from the codes given below the lists.
		   List – I	  	                                    List – II
	 a.	 Box  Plot	 I.	 Q2		
	 b.	 Ogive 	 II.	 Quantitative variable
	 c.	 Histogram	 III.	 Categorical variable
	 d.	 Bar chart	 IV.	 Outlies
		  Code :
	 (A)	 a – I	 b – II	 c – III	 d – IV
	 (B)	 a – III	 b – I	 c – II	 d – IV
	 (C)	 a – III	 b – I	 c – IV	 d – II
	 (D)	 a – IV	 b – I	 c – II	 d – III
	 69.	 {ZåZ H$mo EH$ AZwH«$_ _| ì`dpñWV H$s{OE :
	 I.	 eyÝ` Ed§ d¡H$pënH$ n[aH$ënZm V¡`ma H$aZm
	 II.	 {ZU©` boZm 
	 III.	 narjU gm§p»`H$s
	 IV.	 gmW©H$Vm ñVa (α) MwZZm 
		  ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :
		  Hy$Q> :
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV
		  Arrange the following steps in a sequence :
	 I.	F ormulate the null and alternative hypothesis
	 II.	 Make a decision
	 III.	 Compute the test statistics
	 IV.	 Choose the significance level (α)
		  Choose the correct answer from the code given below :
		  Code :
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV
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	 70.	 Xr J`r OrdZ Vm{bH$m Ho$ {bE 20P25 H$m _mZ Š`m hmoJm ?

Am`w x 10 15 20 25 30

lx 97817 96923 95510 93393 90159

		  What would be the value of 20P25 for the given life table ?

Age x 10 15 20 25 30

lx 97817 96923 95510 93393 90159

	 (A)	 0.02	 (B)	 0.98	 (C)	 0.95	 (D)	 0.96

	 71.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :

		         gyMr – I	  		                     gyMr – II

	 a.	 A d B nañna AndOu h¡>	 I.	 P (A ∩ B) = P (A) .P(B)			 

	 b.	 A d B ñdV§Ì h¡	 II.	 P (A) ≤ P(B) 

	 c.	 A ⊃ B 	 III.	 P (AC ∪ BC) = 1

	 d.	 A ⊂ B 	 IV.	 P (A ∪ B) = P(A)

		  Hy$Q> :

	 (A)	 a – I	 b – IV	 c – II	 d – III

	 (B)	 a – III	 b – II	 c – IV	 d – I

	 (C)	 a – IV	 b – I	 c – III	 d – II

	 (D)	 a – III	 b – I	 c – IV	 d – II

		  Match List – I with List – II and select the correct answer from the codes given below the lists.

		        List – I	L ist – II

	 a.	 A and B are mutually exclusive	 I.	 P (A ∩ B) = P (A) .P(B)		

	 b.	 A and B are independent 	 II.	 P (A) ≤ P(B)

	 c.	 A ⊃ B 	 III.	 P (AC ∪ BC) = 1

	 d.	 A ⊂ B	 IV.	 P (A ∪ B) = P(A)

		  Code :

	 (A)	 a – I	 b – IV	 c – II	 d – III

	 (B)	 a – III	 b – II	 c – IV	 d – I

	 (C)	 a – IV	 b – I	 c – III	 d – II

	 (D)	 a – III	 b – I	 c – IV	 d – II
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	 72.	 ZrMo Xmo H$WZ h¡ {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &

		  A{^H$WZ (A) : {d^oXH$ \$bZ H$m Cn`moJ dJuH$aU g_ñ`mAm| _| {H$gr Z`o AdbmoH$Z H$mo CgH$s {deofVmAm| 

Ho$ _mZm| Ho$ AmYma na {H$gr {deof dJ© _| {Z{X©îQ> H$aZo Ho$ {bE {H$`m OmVm h¡ &

	 	 H$maU (R) : {d ôXH$ \$bZ àË òH$ dJ© go g§~§{YV EH$ Z ò AdbmoH$Z H$s àm{`H$Vm H$s JUZm H$aVm h¢ &

		  ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :

		  Hy$Q> :

	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m H$aVm h¢ 

	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht H$aVm h¢ 

	 (C)	 (A) gË` h¡ naÝVw (R) JbV h¡ 

	 (D)	 (A) JbV h¡ naÝVw (R) gË` h¡ 

		  Given below are two statements, one is labelled as Assertion (A) and the other as 

		  Reason (R).

		  Assertion (A)	 :	 The discriminant function is used in classification problems to assign a new 	 	

		  observation to a particular class based on the values of its features.

		  Reason (R)	 :	 The discriminant function computes the probability of a new observation belonging 	

		  to each class.

		  Select the correct answer from the codes given below :

		  Codes :

	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A)

	 (B)	 Both (A) and (R) are true but (R) is not the correct explanation of (A)

	 (C)	 (A) is true but (R) is false

	 (D)	 (A) is false but (R) is true
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	 73.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :

	                     gyMr – I	                          	  gyMr – II

	 a.	 nmeo H$m gyMH$m§H$	 I.	 ZrMo H$s Amoa nydm©J«h

	 b.	 bmgno`H$m gyMH$m§H$ 	 II.	 D$na H$s Amoa nydm©J«h 

	 c.	 H$maH$ CËH«$_U narjU/Q>oñQ>	 III.	 P01 × Q01 = V01

	 d.	 g_` CËH«$_U Q>oñQ>/narjU	 IV.	 P01 × P10 = 1

	             Hy$Q> :

	 (A)	 a – I	 b – II	 c – III	 d – IV

	 (B)	 a – II	 b – I	 c – III	 d – IV

	 (C)	 a – I	 b – II	 c – IV	 d – III

	 (D)	 a – IV	 b – III	 c – I	 d – II

		  Match List – I with List – II and select the correct answer from the codes given below the lists :

	                          List – I	                          		   List – II

		  a.	 Paasche’s index	 I.	 Downward bias

		  b.	L aspeyre’s index	 II.	 Upward bias

		  c.	F actor reversal test	 III.	 P01 × Q01 = V01

		  d.	 Time reversal test	 IV.	 P01 × P10 = 1

	              Codes :

	 (A)	 a – I	 b – II	 c – III	 d – IV

	 (B)	 a – II	 b – I	 c – III	 d – IV

	 (C)	 a – I	 b – II	 c – IV	 d – III

	 (D)	 a – IV	 b – III	 c – I	 d – II

	 74.	 n H$m _mZ Bg àH$ma kmV H$a| {H$ SRSWOR _| Z_yZm _mÜ` H$m àgaU Cgr AmH$ma Ho$ SRSWR _| Z_yZm _mÜ` 
Ho$ àgaU H$m R>rH$ AmYm hmo

		F  ind the value of n such that the variance of the sample mean in SRSWOR is precisely half of the 
variance of the sample mean is SRSWR of the same size

	 (A)	 ( )N − 1
2

			   (B)	 ( )N + 1
2

	

	 (C)	 ( )N2 1
2

+ 			   (D)	 ( )N2 1
2

−
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	 75.	 ZrMo Xmo H$WZ h¢ {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ 

		  A{^H$WZ (A) : ~S>o Z_yZm AmH$ma Ho$ _m_bo _| J¡a-Z_yZm Ìw{Q> H$s g§̂ mdZm H$_ hmoVr h¡ &

		  H$maU (R) : ~‹S>o Z_yZo H$m AmH$ma AmH$bZ H$s A{YH$ gQ>rH$Vm H$s Amoa bo OmVm h¡ &

		  ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :

		  Hy$Q> :
	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m H$aVm h¡
	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht H$aVm h¡
	 (C)	 (A) gË` h¡ naÝVw (R) JbV h¡
	 (D)	 (A) JbV h¡ naÝVw (R) gË` h¡
		  Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R) :

		  Assertion (A) : There are less chance of non-sampling error in case of large sample size.
		  Reason (R) : Large sample size leads to more precision of the estimate.
		  Select the correct answer from the codes given below :
		  Codes :
	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A)
	 (B)	 Both (A) and (R) are true but (R) is not the correct explanation of (A)
	 (C)	 (A) is true but (R) is false
	 (D)	 (A) is false but (R) is true

	 76.	 6 nwéfm| Am¡a 9 _{hbmAm| Ho$ g_yh _| go 5 bmoJm| H$s EH$ g{_{V H$m M`Z {H$`m OmVm h¡ & `{X M`Z `mÑpÀN>H$ 
ê$n go {H$`m Om`o Vmo Š`m àm{`H$Vm h¡ {H$ g{_{V _| 3 nwéf Am¡a 2 _{hbmE| hmo ?

		  A committee of 5 member is to be selected from a group of 6 men and 9 women. If the selection is 
made randomly, what is the probability that the committee consists of 3 men and 2 women ?

	 (A)	 0.239	 (B)	 0.159	 (C)	 0.359	 (D)	 0.415

	 77.	 EH$ àXe©Z H$bm _hm{dÚmb` Ho$ N>mÌ A{^Z`, Z¥Ë` Ed§ Jm`Z H$s EH$ `m A{YH$ _| AÜ``Z H$aZm MwZ gH$Vo  
h¢ & àm{`H$Vm h¡ {H$ EH$ N>mÌ A{^Z` grI ahm h¢ 0.50, Z¥Ë` 0.65, Jm`Z 0.55, A{^Z` `m Z¥Ë` 0.80, 
A{^Z` Am¡a Jm`Z 0.25, Z¥Ë` Am¡a Jm`Z 0.25 àm{`H$Vm kmV H$s{OE {H$ EH$ N>mÌ g^r H$jmAm| H$m AÜ``Z 
H$aVm h¢ &

		  Students at a performing arts college can choose to study one or more classes of acting, dancing and 
singing. The probability that student is studying acting is 0.50, dancing 0.65, singing 0.55, acting or 
dancing 0.80, acting and singing 0.25, dancing and singing 0.25. Find the probability that a student 
studies all these classes.

	 (A)	 0.55	 (B)	 0.15	 (C)	 0.50	 (D)	 0.25

	 78.	 `{X VrZ Mam| x1, x2 Am¡a x3 Ho$ g_yh _| eyÝ` H«$_ Ho$ g^r ghgå~ÝY JwUm§H$ ρ Ho$ ~am~a h¡ Vmo àW_ H«$_ 
àË`oH$ Am§{eH$ ghgå~ÝY h¡

	 	 If all the correlation coefficients of zero order in a set of three variates x1, x2 and x3 are equal to ρ. 
Then every partial correlation of first order is

	 (A)	
ρ

ρ1+
	 (B)	 ( )

( )
1
1

+
−

ρ
ρ

	 (C)	 ρ
ρ( )1− 	 (D)	 ( )1− ρ

ρ
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	 79.	 Xmo {deofVmAm| A Am¡a B Ho$ {bE O¡go {H$ (AB) = 256, (ab) = 768, (Ab) = 48, 

		  (aB) = 144 Vmo A Am¡a B Bg àH$ma Ow‹S>o hþE h¢

	 (A)	 A Am¡a B gH$mamË_H$ ê$n go Ow‹S>o hþE h¢

	 (B)	 A Am¡a B ZH$mamË_H$ ê$n go Ow‹S>o hþE h¢

	 (C)	 A Am¡a B Am{lV h¢

	 (D)	 A Am¡a B ñdV§Ì h¢>

		F  or two attributes A and B such that (AB) = 256, (ab) = 768, (Ab) = 48, 

		  (aB) = 144 then A and B are associated as

	 (A)	 A and B are positively associated

	 (B)	 A and B are negatively associated

	 (C)	 A and B are dependent

	 (D)	 A and B are independent

	 80.	 AmH$ma 4 Ho$ Z_yZm| na {dMma H$aVo hþE, EH$ CËnmXZ à{H«$`m H$s {ZJamZr Ho$ {bE X  {Z`§ÌU MmQ>© H$m à`moJ 
{H$`m J`m & àË`oH$ Z_yZo Ho$ {bE X  Am¡a R Ho$ _mZm| H$s JUZm H$s J`r & 25 Z_yZm| H$s {ZJamZr Ho$ ~mX  
∑ X = 525  Am¡a ∑ R = 90 h¡ Vmo X  {Z`§ÌU MmQ>© Ho$ {bE UCL Š`m hmoJm ? {X`m J`m h¡ {H$ n = 4 Ho$ {bE 
d2 = 2.088 Am¡a A2 = 0.729 &

		  An X  control chart has been used to monitor a production process, considering sample size as 4. 
The values of X  and R are computed for each sample. After monitoring 25 samples, ∑ X = 525  
and ∑ R = 90. What will be the UCL for the X  chart ? Given that d2 = 2.088 and A2 = 0.729 for  
n = 4.

	 (A)	 18.27			   (B)	 18.37	

	 (C)	 23.62			   (D)	 23.52

	 81.	 OZg§»`m A H$mo _mZH$sH¥$V OZg§»`m _mZVo hþE, OZg§»`m 4 H$s _mZH$sH¥$V _¥Ë`wXa kmV H$ao & {X`m J`m h¢ {H$ 
A H$m CDR 29.8 h¢ 

	 	 Compute the standardized death rate of population 4, considering population A as a standardized 
population. Given CDR of A is 29.8

		
Px

b

q∑ = 122000

		  Px
b∑ = 144000

		  m Px
b

x
q∑ = 3834000

		  m Px
q

x
b× =∑ 4844000

	 (A)	 39.7	 (B)	 26.6	 (C)	 33.6	 (D)	 31.4
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	 82.	 `{X _mÜ` m Am¡a _mZH$ {dMbZ σ Ho$ gmW AmH$ma N H$s EH$ gr{_V OZg§»`m Ho$ à{VñWmnZ Ho$ {~Zm AmH$ma 
n H$m EH$ `mÑpÀN>H$ Z_yZm {b`m OmVm h¡ Vmo Z_yZm| Ho$ {H$Ýhr Xmo gXñ`m| Ho$ ~rM ghàgaU h¢

		  If a random sample of size n is drawn without replacement from a finite population of size N with 
mean m and S.D. σ, the co-variance between any two members of the sample is

	 (A)	
−

−
σ2

1N
	 (B)	

σ2

1N −
	 (C)	

σ
N − 1 	 (D)	

−
−

σ2

2 1N

	 83.	 nm±M dñVwAm| Ho$ {bE Mmby df© 1 Am¡a AmYma df© 0 Ho$ {bE H$s_Vm| Am¡a _mÌmAm| Ho$ CËnmXm| H$m `moJ {X`m J`m 
h¢

		  p q p q0 0 0 1650 1500= =∑ ∑,

		  p q p q1 0 1 11000 1300= =∑ ∑,

		  {XE JE Am§H$‹S>m| H$m Cn`moJ H$aVo hþE {\$ea H$s H$s_V gyMH$m§H$ g§»`m hmoJr
		  Given the sum of the products of prices and quantities for the current year 1 and base year 0 for 5 

given item as

		  p q p q0 0 0 1650 1500= =∑ ∑,

		  p q p q1 0 1 11000 1300= =∑ ∑,

		  The fisher’s price index number using the given data will be
	 (A)	 111.35	 (B)	 86.60	 (C)	 115.47	 (D)	 75.05

	 84.	 ZrMo Xmo H$WZ h¢ {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &
		  A{^H$WZ (A) : `{X `mÑpÀN>H$ Mam| H$m H«$_ bJ^J {ZpíMV ê$n go EH$ `mÑpÀN>H$ Ma H$mo H$da H$aVm h¡, Vmo 

`h àm[`H$Vm _| ^r Cgr `mÑpÀN>H$ Ma _| n[ad{V©V hmo OmVm h¡§ &
	 	 H$maU (R) : bJ^J {ZpíMV A{^gaU go VmËn ©̀ àm{`H$Vm go h¡ bo{H$Z A{^gaU Amdí`H$ ê$n go gË` Zht h¡ &
		  ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :
		  Hy$Q> :
	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m H$aVm h¢ 
	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht H$aVm h¢   
	 (C)	 (A) gË` h¡ naÝVw (R) JbV h¡ 
	 (D)	 (A) JbV h¡ naÝVw (R) gË` h¡ 
		  Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
		  Assertion (A)	 :	 If a sequence of random variables converges almost surely to a random variable then 

it also converges in probability to the same random variable.
		  Reason (R) :	 Almost sure convergence implies in probability but the converse is not 

necessarily true.
		  Select the correct answer from the codes given below :
		  Codes :
	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A)
	 (B)	 Both (A) and (R) are true but (R) is not the correct explanation of (A)
	 (C)	 (A) is true but (R) is false
	 (D)	 (A) is false but (R) is true
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	 85.	 {ZåZ H$mo EH$ AZwH«$_ _| ì`dpñWV H$s{OE &
	 I.	 EH$ Amì`yh W = X′T–1X `mZr T2 ~§Q>Z H$m nmbZ H$a| &
	 II.	Amì`yh ∑ Am¡a ν ñdV§Ì H$mo{Q> H$mo n[a^m{fV H$a| & 
	 III.	 ~hþMar` àgm_mÝ` ~§Q>Z go ν ñdV§Ì à{VXe© CËnÞ H$a| &
	 IV.	 à{VXe© ghògaU Amì`yh T  H$s JUZm H$a|& 

		  ZrMo {XE JE Hy$Q _| go ghr CÎma Mw{ZE :
		  Hy$Q> :
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV

		  Arrange the following steps in a sequence.

	 I.	 Construct a matrix W = X′T–1X is follows a T2 distribution.

	 II.	 Define the matrix ∑ and degrees of freedom ν. 

	 III.	 Generate ν independent samples from a multivariate normal distribution.

	 IV.	 Compute the sample covariance matrix T from the data set.

		  Choose the correct answer from the code given below.

		  Code :
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV

	 86.	 {ZåZ H$mo EH$ AZwH«$_ _| ì`dpñWV H$s{OE :
	 I.	 `mÑpÀN>H$ Mam| x1, x2,..., xn Ho$ AZwH«$_ na {dMma H$a| &
	 II.	 H$moë_moJ«mod Ag_mZVm bmJy H$a|& 
	 III.	 àË`oH$ k Ho$ {bE Am§{eH$ `moJ Sk = x1 + x2 +...+ xk H$s JUZm H$a| &
	 IV.	Ag_mZVm H$m Cn`moJ `h {XImZo Ho$ {bE H$a| {H$ Am§{eH$ `moJ Sk EH$ gr_m go A{YH$ h¡ & 

		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :

		  Hy$Q> :
	 (A)	 I, II, IV, III			   (B)	 I, IV, III, II	

	 (C)	 II, III, IV, I			   (D)	 I, III, II, IV

		  Arrange the following steps in a sequence :

	 I.	 Consider a sequence of independent random variables x1, x2,..., xn.

	 II.	 Apply Kolmogrov’s inequality.

	 III.	F or each k compute the partial sum Sk = x1 + x2 +...+ xk.

	 IV.	 Use inequality to show that the partial sum Sk exceeds a threshold.

		  Choose the correct answer from the code given below.

		  Code :
	 (A)	 I, II, IV, III			   (B)	 I, IV, III, II	

	 (C)	 II, III, IV, I			   (D)	 I, III, II, IV
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	 87.	 à{VXe© gd}jU Ho$ {gÕmÝV Š`m h¡ ? 
	 a.	 gm_mÝ`Vm H$m {gÕmÝV
	 b.	 d¡ÚVm H$m {gÕmÝV
	 c.	 gm§p»`H$s` {Z`{_VVm H$m {gÕmÝV 
	 d.	AZwHy$bZ H$m {gÕmÝV
		  ZrMo {XE JE {dH$ënm| _|> go ghr CÎma Mw{ZE :
	 (A)	 Ho$db a, b, c	 (B)	 Ho$db a, b, d	 (C)	 Ho$db b, c, d	 (D)	 Ho$db a, c, d
		  What are the principles of survey sampling ?
	 a.	 Principle of normality
	 b.	 Principle of validity
	 c.	 Principle of statistical regularity
	 d.	 Principle of optimization

		  Choose the correct answer from the options given below.
	 (A)	 a, b, c only	 (B)	 a, b, d only	 (C)	 b, c, d only	 (D)	 a, c, d only

	 88.	 {ZåZ _o§ go ~hþg§aoIVm H$m òmoV h¡ 
	 a.	 S>oQ>m g§J«h {d{Y
	 b.	Am{lV Am¡a ñdV§Ì Ma Ho$ ~rM ghgå~ÝY 
	 c.	 _mo‹S> {d{eîQ>Vm
	 d.	 _mS>b na à{V~ÝY

		  ZrMo {XE JE {dH$ënm| _|> go ghr CÎma Mw{ZE &
	 (A)	 Ho$db a, b, c	 (B)	 Ho$db b, c, d	 (C)	 Ho$db a, c, d	 (D)	 Ho$db a, b, d

		  Which of the following are the source of multicollinearity ?
	 a.	 The data collection method
	 b.	 Correlation between dependent and independent variable
	 c.	 Mode specification
	 d.	 Constraints on the model

		  Choose the correct answer from the options given below.
	 (A)	 a, b, c only			   (B)	 b, c, d only	
	 (C)	 a, c, d only			   (D)	 a, b, d only

	 89.	 {ZåZ _| go H$m¡Z-gr MH«$s` CVma M‹T>md H$mo _mnZo H$s {d{Y h¡ ?
	 a.	 _m{gH$ Am¡gV H$s {d{Y
	 b.	Ad{eîQ> {d{Y
	 c.	 nr[a`moS>moJ«m_ {díbofU 
	 d.	 hma_mo{ZH$ {díbofU
		  ZrMo {XE JE {dH$ënm| _|> go ghr CÎma Mw{ZE &
	 (A)	 Ho$db a, b, c	 (B)	 Ho$db a, c, d	 (C)	 Ho$db b, c, d	 (D)	 Ho$db a, b, d
	 	 Which are the methods of measuring cyclical fluctuations ?
	 a.	 Method of monthly average
	 b.	 Residual method
	 c.	 Periodogram analysis
	 d.	 Harmonic analysis
		  Choose the correct answer from the options given below.
	 (A)	 a, b, c only	 (B)	 a, c, d only	 (C)	 b, c, d only	 (D)	 a, b, d only
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	 90.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :

		        gyMr – I	  		 gyMr – II

	 a.	 ~moaob {g½_m joÌ	 I.	 Eogr pñW{V`m± {OgHo$ A§VJ©V g_mH$bm| H$s 	gr_m,

				    gr_m g§»`m Ho$ ~am~a hmoVr h¡

	 b.	 à^wËd A{^gaU à_o`	 II.	 à_o` CnJm_r àgm_mÝ`Vm H$m dU©Z H$aVm h¢ 

	 c.	 H$moë_moJ«mod H$s SLLN	 III.	 JUZr` `y{Z`Zm| Am¡a àe§gmAm| Ho$ VhV ~§X goQ>m| H$m g§J«h

	 d.	 gr Eb Q>r	 IV.	 bJ^J {ZpíMV A{^gaU

	          Hy$Q> :

	 (A)	 a – I	 b – II	 c – III	 d – IV

	 (B)	 a – IV	 b – II	 c – III	 d – I

	 (C)	 a – III	 b – II	 c – I	 d – IV

	 (D)	 a – III	 b – I	 c – IV	 d – II

		  Match List – I with List – II and select the correct answer from the codes given below the lists :

	 	  L   ist – I				L    ist – II

	 a.	 Borel sigma field 	 I.	 Condition under which the limit of integrals 					  

				    equal to the number of limit

	 b.	 Dominated convergence 	 II.	 Theorems describes the asymptotic normality

		  theorem

	 c.	 Kolmogrov’s SLLN	 III.	 Collection of sets closed under countable unions 			

		  and compliments			    

	 d.	 CLT	 IV.	 Almost sure convergence			 

	            Codes :

	 (A)	 a – I	 b – II	 c – III	 d – IV

	 (B)	 a – IV	 b – II	 c – III	 d – I

	 (C)	 a – III	 b – II	 c – I	 d – IV

	 (D)	 a – III	 b – I	 c – IV	 d – II
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	 91.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :
		  gyMr – I	  		   	     gyMr – II
	 a.	 gr.Ama.S>r.	 I.	 `h gw{ZpíMV H$aVm h¡ {H$ àË`oH$ CnMma àË`oH$ IÊS> _| 		
				    g_mZ g§»`m _| {XImB© h¢
	 b.	 Ama.~r.S>r. 	 II.	 `mÑpÀN>H$sH$aU Am¡a à{VH¥${V H$s Amdí`H$Vm h¡ 
	 c.	 Eb.Eg.S>r. 	 III.	 n[adV©ZerbVm Ho$ Xmo ñÌmoVm| Ho$ {Z`§ÌU
	 d.	 ~r.AmB©.~r.S>r.	 IV.	 IÊS>m| Ho$ ^rVa n[adV©ZerbVm H$mo Ü`mZ _| aIVm h¢
	        Hy$Q> :
	 (A)	 a – II	 b – IV	 c – III	 d – I
	 (B)	 a – III	 b – IV	 c – II	 d – I
	 (C)	 a – I	 b – III	 c – II	 d – IV
	 (D)	 a – I	 b – II	 c – III	 d – IV
		  Match List – I with List – II and select the correct answer from the codes given below the lists :
	 	L ist – I				L    ist – II
	 a.	 CRD	 I.	 Ensures that each treatment appears the same 		
				    number of times in each block
	 b.	 RBD 	 II.	 Requires randomization and replication
	 c.	L SD	 III.	 Controls for two sources of variability
	 d.	 BIBD	 IV.	 Accounts for variability within blocks
	            Code :
	 (A)	 a – II	 b – IV	 c – III	 d – I
	 (B)	 a – III	 b – IV	 c – II	 d – I
	 (C)	 a – I	 b – III	 c – II	 d – IV
	 (D)	 a – I	 b – II	 c – III	 d – IV

	 92.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :
		     gyMr – I	  			  gyMr – II
	 a.	 ~hþMar` àgm_mÝ` ~§Q>Z	 I.	 ~hþMar` OZg§»`m _| _mÜ`	 g{Xe H$m narjU 				 
				    H$aZo Ho$ {bE Cn`moJ {H$`m OmVm h¡
	 b.	 hmoQ>oqbJ H$m T2 	 II.	 Xÿar H$s _mn 
	 c.	 _hmbZmo{~g D2	 III.	 χ2 H$m gm_mÝ`rH$aU 		
	 d.	 {demQ>© ~§Q>Z	 IV.	 AZoH$ ghgå~ÝY Mam| Ûmam A{^b{jV ~§Q>Z

	          Hy$Q> :
	 (A)	 a – IV	 b – I	 c – II	 d – III
	 (B)	 a – IV	 b – II	 c – I	 d – III
	 (C)	 a – I	 b – II	 c – III	 d – IV
	 (D)	 a – I	 b – III	 c – IV	 d – II
		  Match List – I with List – II and select the correct answer from the codes given below the lists.
	 	L ist – I				L    ist – II
	 a.	 Multivariate normal distribution	 I.	 Used to test the mean vector	 is multivariate 			 
				    population
	 b.	 Hotelling’s T2	 II.	 Measure of the distance
	 c.	 Mahalanobis D2	 III.	 Generalization of χ2	
	 d.	 Wishart Distribution	 IV.	 Distribution characterized by multiple 		 	 	 	
				    correlated variables
	            Codes :
	 (A)	 a – IV	 b – I	 c – II	 d – III
	 (B)	 a – IV	 b – II	 c – I	 d – III
	 (C)	 a – I	 b – II	 c – III	 d – IV
	 (D)	 a – I	 b – III	 c – IV	 d – II
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	 93.	 g^r gm_mÝ` pñWa H$maH$m| Ho$ gmW Ama- MmQ>© Ho$ {bE narjU {Z`§ÌU Am`m_ h¡ 
	 (A)	 UCL = D4R, CL = R Am¡a LCL = D3R	 (B)	 UCL = D4R

–
, CL = R

–
 Am¡a LCL = D4R

–

	 (C)	 UCL = D4R
–

, CL = R
–

 Am¡a LCL = D3R
–	 (D)	 CnamoŠV _| go H$moB© Zht

		  The trial control limits for R-chart with usual constant factors are 
	 (A)	 UCL = D4R, CL = R and LCL = D3R	 (B)	 UCL = D4R

–
, CL = R

–
 and LCL = D4R

–

	 (C)	 UCL = D4R
–

, CL = R
–

 and LCL = D3R
–

	 (D)	 None of the above

	 94.	 hm°Q>oqbJ T2 H$mo AñdrH¥${V Ho$ {bE Ag_mZVm Ho$ ~mX narjU _mZXÊS> Ho$ én _| gm_mÝ` g§Ho$VZ Ho$ gmW gm§p»`H$s 
F Ho$ g{ÞH$a {H$`m Om gH$Vm h¡ 

		  Hotelling’s T2 can be approximated to statistics F with usual notation as test criterion following the 
inequality for rejection as  

	 (A)	 T2 < 
n
n p

−
−

1
Fp, (n – p), α for n > p	 (B)	 T2 > 

n
n p

−
−

1
 Fp, (n – p), α for n > p

	 (C)	 T2 < Fp, (n – p), α for n > p	 (D)	 T2 > Fp, (n – p), α for n > p

	 95.	 {ZåZ _| AmH$bH$ H$m ~‹S>m à{VXe© JwU H$m¡Z h¡ ?
	 (A)	AZ{^ZVm	 (B)	 n`m©ßVm	 (C)	 g§JVVm	 (D)	 XjVm>
		  Which of the following is the large sample property of an estimator ?
	 (A)	 Unbiaseness	 (B)	 Sufficiency	 (C)	 Consistency	 (D)	 Efficiency

	 96.	 _mZ br{OE {Xn} n ≥ 1 g_mZ Ed§ ñdV§Ìê$n go {dV[aV `mÑpÀN>H$ Ma H$m AZwH«$_ h¡ {OgH$m _mÜ` 4 Am¡a àgaU 1 h¡ 

		  V~ lim .
n i

i

n

P
n

X
→∞

=

>








∑1

4 006
1

 H$m _mZ h¡ 

		L  et {Xn} n ≥ 1 be a sequence of independent and identically distributed random 
		  variables with mean 4 and variance 1.

		  Then lim .
n i

i

n

P
n

X
→∞

=

>








∑1

4 006
1

 is equal to

	 (A)	 0	 (B)	 0.5	 (C)	 1	 (D)	 0.25

	 97.	 {ZåZ{b{IV _| go H$m¡Z-gm ì`{VaoH$ h¡ ? 
	 a.	 3T1 + T2 – 3T3 + T4

	 b.	 –3T1 – T2 + T3 + 3T4

	 c.	 T1+ 2T2 – 2T3 – T4

	 d.	 T1 – T2 + T3 – T4

		  ZrMo {XE JE {dH$ënm| _|> go ghr CÎma Mw{ZE :
	 (A)	 Ho$db a, b, c	 (B)	 Ho$db a, c, d	 (C)	 Ho$db b, c, d	 (D)	 Ho$db a, b, d
		  Which of the following is contrast ?

	 a.	 3T1 + T2 – 3T3 + T4

	 b.	 –3T1 – T2 + T3 + 3T4

	 c.	 T1+ 2T2 – 2T3 – T4

	 d.	 T1 – T2 + T3 – T4
		  Choose the correct answer from the options given below.
	 (A)	 a, b, c, only	 (B)	 a, c, d, only	 (C)	 b, c, d, only	 (D)	 a, b, d, only
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	 98.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$a| : 
	                    gyMr – I	                        gyMr – II

	 a.	 ex
0	 I.	

2

2

M

m
x

x+

	 b.	 ax	 II.	 lx + Tx+1

	 c.	 Mx	 III.	 dx/lx

	 d.	 Tx	 IV.	 Tx/lx	
		  ZrMo {XE JE Hy$Q> _|> go ghr CÎma Mw{ZE :
	 (A)	 a – I	 b – II	 c – IV	 d – III
	 (B)	 a – II	 b – III	 c – I	 d – IV
	 (C)	 a – II	 b – IV	 c – III	 d – I
	 (D)	 a – IV	 b – I	 c – III	 d – II

		  Match List – I with List – II :

	          L          ist – I	L ist – II

	 a.	 ex
0	 I.	

2

2

M

m
x

x+

	 b.	 ax	 II.	 lx + Tx+1

	 c.	 Mx	 III.	 dx/lx
	 d.	 Tx	 IV.	 Tx/lx
		  Choose the correct answer from the code given below.

	 (A)	 a – I	 b – II	 c – IV	 d – III

	 (B)	 a – II	 b – III	 c – I	 d – IV

	 (C)	 a – II	 b – IV	 c – III	 d – I

	 (D)	 a – IV	 b – I	 c – III	 d – II

	 99.	 `{X r à^mdm| H$mo 2n \¡$ŠQ>mo[a`b _| 2r B©H$mB`mo Ho$ 2n – r AmH$ma Ho$ ãbmH$ ~ZmZo Ho$ {bE g§`mo{OV {H$`m OmVm h¡ 
Vmo ñdMm{bV ê$n go g§`mo{OV à^mdm| H$s g§»`m h¡§ 

	 (A)	 2r – r			   (B)	 r2 – r – 1	

	 (C)	 2r – r – 1			   (D)	 CnamoŠV _| go H$moB© Zhr>
		  If r effects are confounded in a 2n factorial to have 2r blocks of size 2n–r units, the number of 

automatically confounded effects is
	 (A)	 2r – r			   (B)	 r2 – r – 1	
	 (C)	 2r – r – 1			   (D)	 None of the above

	100.	 g_` ûm§¥Ibm S>oQ>m _| àd¥{Îm H$mo _mnZo H$s MbVr Am¡gV {d{Y Ho$ à^md H$mo hQ>m Xo 
	 (A)	 XrK©H$m{bH$ {d{dYVmE± 			   (B)	AënH$m{bH$ {d{dYVmE±
	 (C)	 MH«$s` {d{dYVm			   (D)	 CnamoŠV g^r>
	 	 Moving average method of fitting trend in a time series data removed the effect of 
	 (A)	L ong term variations			   (B)	 Short term variations
	 (C)	 Cyclic variation			   (D)	 All the above
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